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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these

items should be based on the passages only.
Passage - 1

We often hear about conflicts among
different States in India over river waters. Of the
20 major river systems, 14 are already
water-stressed; 75% of the population lives in
water-stressed regions, a third of whom live in
water-scarce areas. Climate change, the demands
of rising population and the need for agriculture
to keep pace, and increased rate of urbanization
and industrialization will exacerbate
stress. According to the Constitution of India,
water is a State subject and not that of the
Union, except for regulation of inter-State rivers.
Key to ensuring balance between competing
demands of various stakeholders is a basin-based

approach to allocate water amongst constituent
regions and States. Allocating fair share of water

to them requires assessments based on objective
criteria, such as specificities of the river basm
size of dependent population, existing water use

use, ete. while ensuring r\the ent'lronn{:ental.ne\éds
of the river and aqudﬂrs h

water

f\\(

N
and demand, efficiency of use, pmjected futura

Wh:ch*nne uf th \fullowmg statements best

\\

2

Passage - 2

More than half of Indian women and almost
a quarter of Indian men of working age suffer
from anaemia. According to studies, they are
anywhere from 5 — 15% less productive than they
could be, as a result thereof. India also has the
largest tuberculosis burden in the world, costing
170 million workdays to the country annually.
But what is just as important as lost productivity
now is lost potential in the future. It is becoming
increasingly clear that on many measures of
cognitive ability, malnourished Indian children
perform two or three times worse than their
adequately nourished peers. For an economy th
will be more dependent on highly Bk]llm

workers, this poses nstgmﬁcan't@allenge dit
is one that really slwuld\_l?fe ad ressed given

India's; den@mphm outlook.

\

Which one of the following statements best
reflects what is implied by the passage ?

(a) Education system must be strengthened

in rural areas,

(b)

Large scale and effective
implementation of skill development

programme is the need of the hour,

(c)

1.

{eﬂccw“)tihg__/ most rational, practical and

u:\:;medmte action required to ensure fair and

equitable allocation of water to different
stakeholders ?

(a) A national, pragmatic, legal and policy
framework for water allocation should
be made.

(b)  All river systems of the country should
be linked and huge aquifers created.

(c) Water channels between regions of
water surplus and regions of water
deficit should be created,

(d) To mitigate water crisis, water demand
of sectors such as agriculture and
industry should be reduced.

XDTG-S-DNK (3

=)

For economic development, health and
nutrition of only skilled workers needs
special attention,

(d)  For rapid economic growth as envisaged
by us, attention should be paid to health

and nutrition of the people.
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Passage - 3

In India, a majority of farmers are
marginal and small, less educated and
possess low adaptive capabilities to climate
change, perhaps because of credit and other
constraints. So, one expect
autonomous adaptation to climate change.
Even if it was possible, it would not be
sufficient to offset losses from climate
change. To deal with this, adaptation to
climate change is paramount, alongside a
fast mitigation response. Another solution is

cannot

to have a planned or policy-driven
adaptation, which would require the
government to come up with policy

recommendations. Perception is a necessary
pre-requisite  for adaptation. Whether
farmers are adapting agricultural practices
to climate change depends on whether they
perceive it or not. However, this is not always
enough for adaptation. It is important how a
farmer perceives the risks associated with
climate change.

4. Raj has ten pairs of red, nine pairs of white
and eight pairs of black shoes in a box. If he
randomly picks shoes one by one (without
replacement) from the box to get a red pair of
shoes to wear, what is the maximum number
of attempts he has to make ?

(a) 27

(b) 36

(c) 44

(d 45

In how many ways can a batsman score
exactly 25 runs by scoring single runs, fours
and sixes only, irrespective of the sequence of
scoring shots ?

(a) 1B

o s \
- \ \©m

()
,&\I‘Fhem are four letters and four envelopes and

@

(d¥y

A
| ﬁ\\@ \(\ =#  exactly one letter is to be put in exactly one
8.  Which one of the fnliow{mu)st{!trmaj best envelope with the correct address. If the
reflects the mosb-lomca‘l\an nd rational message letters are randomly inserted into the
m;ve;ed by the au}‘hor of the passage ? envelopes, then consider the following
() \:c:i'ap hon to climate change and statements :
m‘t'ga""‘"" SRR basically the 1. It is possible that exactly one letter goes
responsibilities of the government. into an incorrect envelope
(b) Climate change causes a change in 2. There are only six ways in which only
government policies regarding land use two letters can go into the correct
patterns in the country. envelopes
(¢) Risk perceptions of farmers are :
. Which of the state ts gi i
important for motivating them for —y N ST e
taking adaptation decisions. ‘
- - w - . 1
(d) Since mitigation is not possible, ™ wy
governments should éume up with ()  2only
policies for quick response to climate (c) Both1and?2
change. (d) Neither 1 nor 2
XDTG-S-DNK (5-A)
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\
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7.  What is the remainder when
85 x 87 x 89 x 91 x 95 x 96 is divided by 100 ?
(@ 0
b 1
o0 2
d 4
8. What is the unit digit in the expansion of
(57242)7x6x3x1 9
(a) 2
(b) 4
() 6
d 8
9. If ABC and DEF are both 3-digit numbers

such that A, B, C, D, E and F are
digits that
ABC + DEF = 1111, then what is the value of
A+B+C+D+E+F ?

(a)

distinct

non-zero such

10. Dis a 3-digit number such that the ratio of the
number to the sum of its digits is least. What
is the difference between the digit at the
hundred’s place and the digit at the unit’s
place of D ? '

(@ 0
(b)
(c)

7
8
d 9

Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

into the

atmosphere now will affect the climate in the

The emissions humans put
middle of the century and onwards. Technological

change, meanwhile, could make a future
transition away from fossil fuels cheap or it
might not, leaving the world with a terrible
choice between sharply reducing emissions at
huge cost or suffering through the effects of
unabated warming. Businesses that do flot hedge
against the threat of uncertain uutcomes f'atl 'l:hé\
world cannot afford Yh lflessnes@on climate

change

,ﬁj Which one of the following statements best

?  reflects the crucial message conveyed by the

author of the passage ?

(a) Businesses that cause emissions may
need to close down or pay for pollution in

future.

(b) The only solution is technological
development related to the issues of

climate change.

(¢) Waiting to deal with carbon emissions
until technology improves is not a wise

strategy.

(d) Since future technological change is
uncertain, new industries should be

based on renewable energy sources.

XDTG-S-DNK
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uftess - 2
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(b)

(c)

(d)

~A)
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Passage - 2

Environmental

problems health

cause
problems. Substantial changes in lifestyle can
reduce environmental or health problems, but
this idea appears almost impossible to adopt.
With environmental problems, individual efforts
can be perceived as having a negligible effect and
therefore lead to inertia. With health, on the
other hand, individual choices can make the
difference between life and death, literally. And

yet, barring a few, there seems to be the same

collective lethargy towards making their choices.

12.  Which one of the following statements best

implies the most rational assumption that can.

=

be made from the passage ? A X

(a) We are liﬁcf} ta s@}d re money on
LA\

f"\“%
G @

1s the job of the government to solve

n prevention.
-

our environmental and public health

problems.

(c) Health can be protected even if
environmental  problems go on
unattended.

(d) Loss of traditional If!‘ustyle and the
influence of western vﬁlub's led to some
unhealthy ways of living.

XDTG-S-DNK (9-

Passage - 3

Many people are not eating the right food.
For some, it is simply a decision to stick with food
they enjoy but which is not too healthy. This is
leading to an increase in non-communicable
diseases. This in turn leads to major burden on
our health-care systems that have the potential
to derail the economic progress which is essential
for the poor to improve their lives. For others, it
is about limited access to nutritious food or a lack
of affordability, leading to monotonous diets that
do not provide the daily nutrients for them to
develop fully. Part of the reason nupq'tioﬁ?\

under threat worldwide is thuyour food systems

]

o
are not properly res nd@o\nuh'itﬁmai needs.

Somevwhe "“nlon% that long road from farm to

;Rr%, thﬁm are serious detours taking place.
2

13. Which one of the following statements best

reflects the crux of the passage ?

(a) The scheme of Universal Basic Income

should be implemented worldwide as a

way of poverty alleviation.

(b) We must place food-based nutrition at

the centre of our policy debate.

(c)  Nutritional status of food should be

improved by creating  appropriate

genetically modified crops.

(d) Using modern food processing

technologies, we must fortify food items

with required nutrient elements,

A)
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Yum wn A E) fowm § oI |2 faaw
% lﬁmﬁrﬁamﬁmﬁrﬁq:

p+q+r—s—tﬁ'ﬁ§ﬂ'{§q%m%l

2p+q+2r-2s+t @ s A foam & |

94 FYET A A DAV TE R 2
(a) a1

(b) &I 2

() 13K 22Hi

@ 1,782

2.

15, IWSY GG p N WY W@ ¢ F AR A
freafafgs w fer $iftw .

p+c
p=c¢

2p+cﬁﬂﬂ@m%l
pe forem & e § |

3 Ferdl B & AN A Q\ﬂ@

(:E%;Q X@\qﬁ

d 1,233

1. Y B g § |

2,
3.

16. fewh 3-37%i $i F@m ABC H D & M T W
TUF%A 37DD NI BT 8, 5@l A, B, C 3R D
P yRmsmE | A+BrcT R TNR 2

(a) 18
(b) 16
(c) 15

d) R Afwgl & s Puifa T8 fen

ST |ehell

XDTG-S-DNK

(10~

17. X, Y 3R Z & AWl & foreft off o & fer,
%{Ym%mﬁs-aiﬁaﬁé@rmﬁm
"
(a) Haa 73R 118
(b) “aw 113 139
(c) Haw 73 133
@) 7,113 137

125 HIEH U9 U YR @3 & &9 § Fafem
fru e & | fe o9 @ T @ o= W g
fRgud?

(a) 27

(b) 25

() 21

(d) 18

19. T@N 11223344 & 3H I gqada@a@ﬁa

amzﬁﬁmﬁa@m

18.

(d) 72

20. A, B, C IeW-3fem FW F g fheft sm @
FA: 8, Jeaﬁt1zf‘amntm${am§|
A A HIWGR Hl HM F 3, ke B
ST &1 T HAl &, 3Fhefl C JUan & o
el ?; A fR @ orhen geefoar = wm F@
2 ¥R gdt 7@ 7' W I wan R | Foafafa
Fol W foram hifer

1. T8 HM Feeafoan $ QU & e |
2. %M 10 o qu & wmom |

UG FY A Y DA wh R 2
(a) a4 1

(b) e 2

(c) 13ﬂt2€r=ﬁ

@ F@1,9@2

A)
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14,

Three of the five positive integers p, q, r, s, t
are even and two of them are odd (not
necessarily in order). Consider the following :

17.

For any choices of values of X, Y and Z, the
6-digit number of the form XYZXYZ is
divisible by :

1. p+q+r-s—t isdefinitely even. (a) 7and 11 only
b) 11and 13 onl
2. 2p+q+2r-2s+t isdefinitely odd. ( = o
(¢) 7and 13 only
: : 9
Which of the above statements is/are correct ? @ 7 11and13
(a) 1only
18. 125 identical cubes are arranged in the form of
(b) 2only .
a cubical block. How many cubes are
(c) Both1land?2 surrounded by other cubes from each side ?
(d) Neither 1 nor 2 (a) 27
(b) 25
15. Consider the following in respect of prime () 21
number p and composite number ¢, (d 18
p+c o
L p—c can be even. 19. How many distinct 8-digit numbe r}‘aﬁbe

2. 2p+ccanbeodd.
3. pccan be odd.

Which of the statements given abuve are

Z;.

formed by rearmnmng\ the digits) o tl}e
number 112233« \4 suéh\that oddd@igits occupy
odd posntmns ang )

Yoy \

igits occupy even

t?
correc r.? (b] 18
(@) 1land?2 rmbr (¢) 36
(b) 2and3on (- @ (dy 72
” 1‘““d 33 20. A, B, C working independently can do a piece

,2:md3

¢

of work in 8, 16 and 12 days respectively. A
alone works on Monday, B alone works on

16. A 3-digit number ABC, on multiplication with Tuesday, C alone works on Wednesday; A
D gives 37DD where A, B, C and D are alone, again works on Thursday and so on.
different non-zero digits. What is the value of Consider the following statements :
A+B+C? 1. The work will be finished on Thursday.
@ 18 2. The work will be finished in 10 days.
® 16 Which of the above statements is/are correct ?

(a) 1onl
(e) 15 ) =
: § (b) 2only
(d) Cannot be determined due to (¢ Both1and?2
insufficient data (d) Neither 1 nor 2
XDTG-S-DNK
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Freaferfere 3 (i) semen & ferg g :

fefafea i afessl # 97w i 9fiesd & 19
R FIE WA & I P | 37 yenh & o
3% I FaeT 37 Gheoe] W & smaid g7 TRy |
ufese - 1

&l | # wven A fged & fo
ifa-fmfa 2= "0 € 6 a9l & fog am.faum
& g9 (3e9d =hm) F oomwar wam,
3N FT THEN F AR T AqEY T I FIN
N A TG TR § | W WA g g T
? 1 15 ad # fUs [ T4 Fa qTEHl F TH
wfeer & it 3% wewi @ 71 d A R B T
T g3 | Hfawa el i F TR 1 FH W
T WfdE @m 3 I T R | W @
CNG FHi # aan <wa S aifus PM 25
3R T CO, I H@ & | W fawda, el
oAl i ge H diwe 3 ONG 9 M arfirs
NO, Jeafa @ & | fedft 3 fi NG
§ Ieaifa & @ NO, % qftamr &1 " T R |
Al A tEd e whem (feeim &) st
et g W A aiie @ 9% £, 7
A yfEy @ et 2 lamﬂm(’m
mﬁ%ﬁemﬁ%mﬁ—:ﬁa@u\aﬁm&m
et g ﬁzrwaim \?ﬁaﬂu*ﬁaﬁta
' ”ﬁaﬂﬁs@wmmmﬁﬁm
mml

ﬁﬂ%@amnammm,wqﬁmz

TN = Faius gfegw ot e ffgard

%1 waraw ¥ § wfafafam s g 2

(a) WEUW FW WA ® ¢ ARA WA
i =1 Fwif<m w0 givea @ |

(b) TE-F@ F alh & A1 78 wfafrmei A
YUV I WHEN ¥ T A ), afew
HEF-NIfE I9TH e yarEeR 2 |

() mafu® weguw w9 & fam mH =wed
&l W N R S S e |

(@) 7w i GRS F A FA & B

& R § wme i wgfn wm o
o Al R )

\Q\

22, frefafea ol § & @R wF, I0dw TRede

uftens - 2

gur frm e (Fiwie m@HE) weEE
wufl #1 IEiae ot frw sueey O %
fou wenfes wwdt & | wE snumym www,
frm wmm @ @ fava @ anfde o Torfe
TSE i R IqE BA 2, g get A A
wafw "@afg 2 | et frm owem, sfaeE F
ag faadw 6 iR e F T R, s
sfomrEEy g sfvs few, =@ dalg
mmﬁﬁﬁlﬁﬁw&sﬂmﬁ%ﬂmm
W w8, GI'@'TW%W m

Totron

TN Aw IfRgw FAH H GEaW w9 H

yfafafea = 8 2

(a) =3 Al farediow o wde ghiT w5
fava w1 29l 1 wEeEyl wE R |

(b)y guw® Frm wmaa wfoeri 6 favagdaa
I TG R |

(0 it goft am a7 gfifvea w@ & fe
yfoer sreet i wree T @ |

) g% Fm e w9 seen # g
el

(12-A)
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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

To tackle the problem of pollution in cities,
policy makers think that drastic actions like
temporary use of odd-even number scheme for
vehicles, closing schools, factories, construction
activities, and banning the use of certain type of
vehicles are a way forward. Even then the air is
not clean. Vehicles more than 15 years old
comprise one percent of the total; and taking
them off the road will not make any difference.
Banning certain fuels and car types arbitrarily is
not proper. Diesel engines produce more PM 2-5
and less CO, than petrol or CNG engines. On the
other hand, both diesel and CNG engines
produce more NO, than petrol engines. No one
has measured the amount of NO, that CNG
engines are emitting. Arbitrary bans on vehicles
that have passed mandated fitness tests and
periodic pollution tests are unfair. What is=
needed is the scientific and reliable lnfon\mtm -

‘5.—

Passage - 2

Good corporate governance structures
encourage companies to provide accountability
and control. A fundamental reason why
corporate governance has moved onto the
economic and political agenda worldwide has
been the rapid growth in international capital
markets. [Effective corporate governance
enhances access to external financing by
firms, leading to greater investment, higher
growth and employment. Investors look to
place their funds where the standards of
disclosure, of timely and accurate financial

@

reporting, and of equal treatment

Y \E

22, glch l:ithe.ﬁ)llowmg statements best reflects
\“ he logical inference from the passage given

stakeholders are met

about the source of Rol!ut-mts ©on Ta a{-;nul}lg above ?
basis and the tecﬁ{loltnme@n jull Nork to
reduce 1;‘;'\}:“““ r"‘{m‘ “'W“‘ (@ It is an important agenda of the
2 {Whlﬁh Dne Qf‘\the fOIIOWIng statements bﬂ‘st muntﬁcs around the world to ensure
reﬂoc t‘ne most logical and rational
tmphcatmn conveyed by the passage ? access to good external financing.
(a) Arbitrary curbs on vehicles to reduce
pollution are difficult to implement. (b)  Good corporate governance improves the
(b) Knee-jerk reactions cannot solve the dibility of the fi
problem  of pollution but an e
evidence-based approach will be more
effective. (¢) International capital markets ensure
(¢) A heavy penalty should be enforced on T
those driving without periodic pollution Vit the ks meintadn: good sepoents
tests. governance.
(d) In the absence of laws to deal with the
problems of pollution the (d) Good
- - - ! t’e
administration tends to make arbitrary SO I grsancy. paG: 89
decisions. way for robust supply chains.
XDTG-S-DNK (13-A)
== e = —
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\ ufese - 3

et gemfy % anger ¥, A F 3F
g&-fad @ fffa @ €, sfawg orey yefw
& Jfqada i TFum w@ ¥ i I arHl ®
e & fon =W weE w@ €, Rl fe oam
3= TR 9yst i frate 3ueey g 2 | wef
U9, % AR 9 @ #, A 3 ARam F
dNH S FU TEEm % WY F A W OER
T M & | Feft w1 e aredi o gged & R
ti‘mmm%aﬂtﬁaa;ﬁaqmmﬁ
WE HH HE1 R | F@1 TS F T T W §
@R I 7 T8 T 8, J @ a=aal A
Y T R |

23, Fafafas #wi 4 3 s =, @ dfese

o0 ffim @ w6 a@ waifus gfege ok
gﬂmmaﬁaﬂmmnuﬁﬁﬁam

27.

28,

(a) T IEwEH @ 5 wfadi =1 fam.an
w1 a-fafeua aren gfawga dw @ )
(b) '@!ﬂgﬁﬁﬁm(ﬁ@q)wﬁﬁaﬂx%
©) wqws}aﬁﬁmgﬂ“ 4:\@
%ﬁmqﬁmwﬁm %1
() grﬁnn
/\bmﬂw ?ﬂﬁ;{‘é’fwm
24, zrﬁ(,Q 10=8 96&11e30=s5,
11@17@21_13%,3‘123@4915wm
B2
(a) 6
(b) 8
(¢ 13 .
d 15
25. WA Wi, x ®E o gt R, @ wwR
Tx+ 96T R x T I xF i o Tvg § 2
(a) 10
(b) 11
() 12
(d) 3Fd: S
XDTG-S-DNK (14-A)

26.

M p, q r IR s W IF aqel i g
FEATT &, @ (p + q)r + 5) T HEwH WH 1 8 ?
(a) 230

(b) 225

(c) 224

@ 221

9 %1 99 an for@ o T FEA N &1 aret R |
Ife N =t 13 & fanfem e e, a@ Srewer T
g 2

(@) 11

(b) 9

(c) 7

@ 1

9-37i #I e dem =1 =i

mmzﬂ’tmﬁgﬂn%mm
TSI F I W T}\go

e

o(ﬂ]

N3

100

10 & mnaasfé‘i@?vtﬁalﬁmﬁwlﬁﬁanﬁ
aqrel @i 37t w1 FTHe 22

(a) 855

(b) 856

(¢) 910

d 911

ABCD % @ 8 | AB 3K CD ¥&% W %
ﬁgafnacaﬂtmuﬁmmilﬁmﬁggﬁ
Gﬁ%mwﬁ@mnﬁﬁ%ﬁmﬁgaﬁﬁ
¥ & o e i fge &R o w8 0
(a) 16

(b) 18

() 20

@ 24
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Passage - 3
Elephants are landscape architects,
creating clearings in the forest, preventing

overgrowth of certain plant species and allowing
space for the regeneration of others, which in turn
provide sustenance to other herbivorous animals.
Elephants plants, fruits seeds,
propagating the seeds when they defecate in other
places as they travel. Elephant dung provides
nourishment to plants and animals and acts as a
breeding ground for insects. In times of drought,
they access water by digging holes which benefits
other wildlife.

eat and

23. Which one of the following statements best
reflects the most logical and rational inference

that can be drawn from the passage ?

(a) The home range of elephants needs to be

a vast area of rich biodiversity.

(b) Elephants are the keystone species and

they benefit the biodiversity.

(¢) Rich biodiversity cannot be maintained

in the forests without the presence of

elephants. @
(d) Elephants are capable ofﬂn-gem:ratmg
forests mh :,pecms ss per their

reqmremen (\kv

24, 7"\9@3“10 8 9@ 11 ® 30 =5,
1)7;&9 91 = 13, what is the value of

3 ®@4®157?
(@ 6
(b) 8
(@ 13
d 15
25. Let x be a positive integer such that 7x + 96 is
divisible by x. How many values of x -are
possible ?
(@) 10
(b) 11
() 12
(d) Infinitely many
XDTG-S-DNK

26.

27.

28,

Z/’g

29,

30.

(15-

A)

If p, q, r and s are distinct single digit positive
numbers, then what is the greatest value of
(p+qlr+s)?

(a) 230

(b) 225

() 224

d 221

A number N is formed by writing 9 for
99 times. What is the remainder if N is
divided by 13 ?

(a) 11
(b)
(c)

d 1

Each digit of a 9-digit number :ﬂ 1“6%15
multiplied by itself. Whvatnls the sﬁm of the
digits of the resultmg numbek" ° .

éa} 54
3 3
(d 100

What is the sum of all digits which appear in
all the integers from 10 to 100 ?

(a) 855
(b) 856
(c) 910
d 911

ABCD is a square. One point on each of AB
and CD; and two distinct points on each of BC
and DA are chosen. How many distinct
triangles can be drawn using any three points
as vertices out of these six points ?

(a) 16
(b) 18
(0 20
d 24
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fefeifea 5 (aier) s & fare Agw :

Fefcfea diT afess & wige ik 9fieaal & #19
M FIE Feen & IW A 1 377 v & e
Y% IR HaT F Wedel W & IR @7 T /

s - 1

YRA #, T i @ dE W gueR
UE 2 | TRUMeeR @9 1 dH-E ¥ i
M W o oftgg d wen s 2, frad
W AW TWA R | FE A anTRAFA wE
I9FT W U} 2 e ¥ K, W A@en #
ygERw (e srfire it 3= & =), dmw,
YT % 9vET M wiEdE § 9 d TRe
SYYH TR A R | AL F FA § q@et h
ﬂ?—ﬁmmmﬁ%,%wwﬁﬁ{
2 6 smfire & 70 2 (srafq es Saficfecds
BT R) M IEH S M R | wra &
T 3w e & Jafclieoin aew
50 wiowa & fHfoaum s 2, ot Sawd
(FEMAAIT) | TEH EEE F iniilgl@:

THRE

e w2 e

p— T, A\l \A

. yfteags mu% 1 Febiuid
a‘-nh\{s@\ A

TR |

2. HEMR YANita R G B deifee
ATl oW Bt 2 BRE feh A %
IUY FET FY § yEid w awd § |

I qEUROnS @ wE ad 33 o

(a) Hae 1

(b) et 2

(c) 131'1tziﬁ=ﬁ

d Fa 1,782

XDTG-S-DNK

Frafafaa w9 § @ S o, 39 et &
T @ wataw w9 § sfafafia s R 2

(a) T 3W IR & FA F T WEW
Er R

Amd, TiE Iw R ¥ A %
S 1 T e aiel @ |

T dm i W ggEew,
JNRA-FA A H ThIar B
gifeaa w1 § ggen #2002 |

W % TH™ gm el @
afEieuie 9es R ¥ o
H/AITET T ¥ IuTEY 4 F o gt

TR

afe - 2 \(\
TORA o 0
Jﬁaﬁgﬂmaﬂtm
\ME@WT%%%'{&%WW
b & anfi off F 7 # o i @ R
T 2, fFEm o 3w, wom =9 9, 3 Faw
wfim & 5 Fd 3w o R w4
o PPf s = W Al e
Fd & 3 6 8 A el ogw v § ) sgEw
% fore, 4% wmw i s W = 22 W w
mﬂmaﬁ?%,m%mm@?ﬁﬁmm
e w8, f onfaurg (effes) w@rm
st wilt o @ =R E 1 S uey g,
e % R o e o R % e #
R Tm & o e R | AR e s
aﬁ-ﬁmmﬁqﬁ,?ﬁaﬁm&ma
W WE STE FHAT R | g9 A, 38 feaw aik
ﬁmmé.ﬁﬁmmmm

32.

(b)

()

(d)

T g

;'Tﬁfia: m\ﬁ

(16—

ﬁﬁﬂﬂﬂqﬁigan%g

A)
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Directions for the following 5 (five) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

In India, the segregation of municipal waste
at source is rare. Recycling is mostly with the
informal sector. More than three-fourths of the
municipal budget goes into collection and
transportation, which leaves very little for
processing/resource recovery and disposal.
Where does waste-to-energy fit into all this ?
Ideally it fits in the chain after segregation
(between wet waste and the rest), collection,
recycling, and before getting to the landfill.
Which technology is most appropriate in
converting waste to energy depends on what is
in the waste (that is biodegradable versus
non-biodegradable component) and its calorific
value. The biodegradable component of India’s
municipal solid waste is a little over 50 per cent,
and biomethanation offers a major s&lum mfoq )

processing this. k& \x_

31. Based o he’*amlmssage' the following
Gssump\twns&have been made :

=

Cﬂﬂectton. processing and segregation of

municipal waste should be with

government agencies.

2. Resource recovery and reeyeling require
technological inputs that can be best
handled by private sector enterprises.

Which of the assumptions given above is/are

correct ?

(a) 1lenly

(b) 2only

(¢) Bothland2
(d) Neither 1 nor 2

XDTG-S-DNK

32.

AN

»

Which one of the following statements best

reflects the crux of the passage ?

(a)

Generation of energy from municipal
solid waste is inexpensive.

(b) Biomethanation is the most ideal way of
generating energy from municipal solid

waste.

(c) Segregation of municipal solid waste is
the first step in ensuring the success of

waste-to-energy plants.

(d) The biodegradable component of India’s
municipal solid waste is not adequate to

energy from waste

efficiently/effectively. o m
c}f‘here_m é‘:laun Sm) organic farmmg is

mherently;g}afer and healthier. The reality is

provide

Passage .,2

t{!&at because the organic farming industry is
still young and not well-regulated in India,
farmers and consumers, alike, are not only
confused about what products are best for them,
but sometimes use products in ways that could
harm them as well. For example, since organic
fertilizers are difficult to obtain on a large scale
in India, farmers often use farmyard manure,
which may contain toxic chemicals and heavy
metals. Certain plant sprays, such as Datura
flower and leaf spray, have an element called
atropine, If it is not applied in the right dose, it
can act on the nervous system of the consumer.
Unfortunately, how much and when to use it are

not well-researched or regulated issues.

(17-A)
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33, I9AW gitedg W Ny, Frafafaa geumomd
TR E

e @t saffea &9 & feami sl
It g1 & foe srgfi &
framl st swviwell + gafarorfedd
waEd & 9§ fifim e 6 wEw
21

IR qdumonaii # @ S wd 2

(a) Fad 1

(b) a2

(© 13K 23

@ Fd@1,7d@2

1.

Fretffea weri 3 @ Fa w5, 30 el &

RIS BT S Faram m] L
22 A\
@ @ﬁf\\ﬂa@ﬁ & ¥

(b) mﬁmﬁm%maﬂégﬂa?fﬁm
forepe i € |
() ¥rRa #, fFami =1 = s aft =

e R & fou Rmfdwm ek
TR 6 T & |

@ fw Ef T ae T I T T T
& fore =i € wife, =i anft of 3o
IR} o o i A A i 2 |

XDTG-S-DNK

(18-

afteds - 8

froe Fo Tuel & 2 vRa # @@ 396
& WY JaTW T A 9T T E | 36 IR 98
g 2 f5 sanawn R R Tue wrgd
< 7 M F | greAiih WA % 9 ¥ 3" %
W 1 3916 99 T § i 78 T R, fw
Wt 3@ FU A TR W Wi §9 8 gaee
T W R | WA T Ak, FN AT H AW
T, faim = yum @, & s § gfy
w @, os domresy T i
SHAI/STE, Hell 9 3 Hiewdl & IQEA g
I 6 oo, SR 3| ufEw § wm sik
uqur gean warfaa g & 1 3% sifile, e,
TR FY gwmel A yfi, 9o 3R I u
@ $ P g @@ R, Res wra am
aﬂtmgxmﬁmﬁwzﬁﬁmﬁg\\

mrﬁ?ﬂﬁ?vz%mnqz

g & A\ o )
Jﬁla;ra’rﬁami%fm

Wﬂﬂiﬁﬁ@ﬁm%aﬂaﬁ

\@Tﬂ“\
o W ¥ foU wewE F gemd
eit[ﬁﬂﬁé o € T e H amYE
kIl
F9 & waal ® i @ ome @
IR uifeafoh @1 & fw Towes
qim d § |
W AR fegs g fifedi i g
1 Y& 1 AT AEEF R |
T U F yuisd F R feam
I aliwl & IwgE (aferdl) ok weR
T I % fow & 9™ Al e
fMd T WA § ol TR 3 wEa
éﬁ%ﬁﬂmmﬁinwﬁ%%{qmqﬁ
l
mﬂﬁﬁqmiﬂwﬁﬁo
(a) e 1,234
(b) aw 233

(c) aw 33K 4
d 1,2 334

- %

A)

RaadheytheVisiion | | Contact us:

-+91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

33. Based on the above passage, the following Passage - 3

Food consumption patterns have changed
substantially in India over the past few decades.
1. Organic farming is inherently unsafe for| This has resulted in the disappearance of many

both farmers and consumers. nutritious foods such as millets, While food grain
production has increased over five times since
independence, it has not sufficiently addressed
educated about eco-friendly food. the issue of malnutrition. For long, the
agriculture sector focussed on increasing food
production particularly staples, which led to
lower production and consumption of indigenous
(a) 1only traditional crops/grains, fruits and other
vegetables, impacting food and nutrition security

assumptions have been made :

2. Farmers and consumers need to be

Which of the assumptions given above is/are

correct ?

(b)  2only in the process. Further, intensive, monoculture
& Baik1end agriculture practices can perpetuate the food and
nutrition security problem by degrading the
(d) Neither 1 nor 2 quality of land, water and food derivedsthrough
them
A
35. Based on the Sbove’pasaage. the following
84. Which one of the following statements best assumpt:ons hava 90&1 ade

reflects the most logical, rational and practical tmplcment the  Sustainable

message conveyed by the authorfof thé& \ \ Davelopment Goals and B achieve

, k zero-hunger goal, monoculture
passage ! agriculture practices are inevitable even
if they do not address malnutrition.

=

\['L

A
(a) In India, Rrg‘anﬂf‘ @ing should not be
{f* r\\}g ){m

2. Dependence on a few crops has negative

fprﬂ titute for consequences for human health and the
unventmnal f‘armmg. PORRpIRID: - ;
3. Government policies regarding food
(b) There are no safe organic alternatives to planning need to incorporate nutritional
security.
chemical fertilizers. 4.  For the present monoculture agriculture

practices, farmers receive subsidies in

various ways and government offers

helped to make their organic farming remunerative prices for grains and
therefore they do not tend to consider
crop diversity.

Which of the above assumptions are valid ?

(a) 1,2and 4 only
be to generate huge profits as there is (b) 2and 3 only

(¢) In India, farmers need to be guided and

sustainable.

(d) The aim of organic farming should not

still no global market for its products. (¢) 3and4only
< d 1,2,3and4

XDTG-S-DNK (19-A)
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86. Tl fe=at 1 14 wrelt 18, 20 Hich W, 26 &t
e, 28 dieft 71, 38 @e e 3R 54 W W £ |

Frafafea #uai @ famm Hifsm .

1. AR feea ¥ @ agfeos w9 @ 9 @ n )
76 YR e 91 6 I A
T &1 U6 q0 GYE 3G9 B, @ n H
AYaq ST 1758 |

2. WMEAAYmFors s &t miie

W yoR Faeh a6 s ow @ fi
FHHFH OF g IEW B, d m
YT T 1672 |

0wl d @ PR T A 0
(a) %ad 1

(b) a2

(¢) 13K 23

(d Fd1,7¢ 2

87. 3R ‘ZERO' F ‘CHUR % v # foran wman 2,
A ‘PLAYER' #! g w9 & foran smam 2

(a) SOCAGT
(b) SODBGT \“@
(e) SODBHT \,
(d) SODBHU
> Wa
e\(” i’\& ol R Hift
1. AP HBATTR
2. CHRDEWIGHE)
3. EJWATRITR
4, FIPUDATAR
5. Fagd AR =R |
el e 3 & saftn /=afdl 9 Avife 59
& for swf R ol 6t srravaem 2 2
(a) Faa g h
(b) e o h
(¢) haw IR i
(@) ot =i &t
XDTG-S-DNK (20-

39, frafafes w faem Hifte, el v it s
it € -

forelt oftan & 59ew A, B,C,D,E¥ |
¥¥7: E®BURIEEUR?

A 3R B franfa <afy € |
DR cw 1

HE.1 ;
HYAL

#27-3: ETRDH |

FY74: AIARCTEAE |

IR WA I FeEl & AR F Prefefas 4 @

FHT TH TE R 2 o
; % \@
a) HU-1, mzaﬂtwam\\w@m

3

° (b) Waaﬂtm4mmmai

\Q\%ﬂﬁmg.

© wft = Fom e = owE W I Y &
fore vt & |

@ ®fi ¥W F9 ¥W@ W oINPT F R
e 737 § |

A

40. 39 T I g S o wEi A R R

(@) 17,87,47,97
(b) 31,41, 53, 67
() 171,73,79,83

(d) 83,89,91,97

A)
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36. A box contains 14 black balls, 20 blue balls,
26 green balls, 28 yellow balls, 38 red balls
and 54 white balls. Consider the following

statements :

1. The smallest number n such that any
n balls drawn from the box randomly
must contain one full group of at least
one colour is 175.

2. The smallest number m such that any
m balls drawn from the box randomly
must contain at least one ball of each
colour is 167.

Which of the above statements is/are correct ?
(a)
(b)
(]
(d)

1 only

2 only

Both 1 and 2
Neither 1 nor 2

37. 1If ZERO’ is written as ‘CHUR’, then how is
‘PLAYER' written ?
(a) SOCAGT
(b) SODBGT \“C
(¢ SODBHT k
(d) SODBHU\ @w
Gonfider tho followmg statements :

@l is older than B.

C and D are of the same age.

38.

3.  Eis the youngest.
4. Fis younger than D.
5.  Fisolder than A.

How many statements given above are

required to  determine the  oldest
person/persons ?
(a) Only two
(b) Only three
(¢)  Only four
(d) All five
XDTG-S-DNK (21

39. Consider the following including the Question
and the Statements :

There are 5 members A, B, C, D, E in a family.
Question : What is the relation of E to B ?

Statement-1: A and B are a married couple.
Statement-2 : D is the father of C.
Statement-3 : E is D’s son.
Statement-4 : A and C are sisters.

Which one of the following is correct in respect

of the above Question and Statements ?

o
(a) Statement-1, Statement-2 G\n\{l
Statement;3 are sufficient to angwer the
0
Questwn
b‘% Statem nt-1, Statement-3 and
\“ S%tement 4 are sufficient to answer the
Question.
(¢0 All four statements together are

sufficient to answer the Question.

(d) All four statements are not sufficient to

answer the Question.

40. Choose the group which is different from the

others :

(a) 17,37,47,97

(b) 31,41, 53,67
() 171,73,79,83
(d) 83,89,91,97

-A)
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e 3 (di7) searvn & fee fRdw :

Fefaies @7 wieael 1 afze sk wh=oel & A9
H17 qId e & I A | 3 v & o
3T9% I FacT 7 IR<oel W & Ra g7 TR |

uftede - 1

Imfhl 3 TEAEE — g @ S
HEA A & HEN 7% A AT rafy w1 srem
o | 3% o 5 9 T Tl smaga
Moy & vhomeEsy gEa @emel & i
MygFa G urEm omfy  oft et
AT 9fed §¢ | 9Hd H THEER & W
v @ FfH, TR i Wi witfeufs,
gt 3 enfds w9 & ywifem € € | %
% 9 ved 9 e 9 R, sefm weh amw

uitedq - 2

AR I Al — FEh! WY 6 g
QN IR 1 T1ggre i fre qEn # IwEm s
2, 7o faeg 6 9 wguwr & w9 § w1 awn @
— & 0% Afves fagew § Fam mn R 5w
fteh I FETE HE | Femm Wi ag A
TGVl A | UF Hewg | &gl T @ f adwm
T AgIeA 394 2 1 A7 sima e 044
?, WH @ ad R 5 wa A fieg g
MG F 40 fawa I T FEA § S g,
wafe 60 wiawa arguse # @1 wmar @ | fava 6
andft @ srfirs SEE w1 9 I8 FEE §
R I 3= wEA I I & fore dfvere AmgeE
Ith ITH1  IWM B IME T ] | WIET Bl T
Eﬁﬁﬂﬁﬂﬁwmﬁﬂa?{ﬁﬁé 3k

78 e, Fred aa w A Rl aﬁmﬂ’;ﬁ\{%r\ mﬁnﬁ
o o A | A A, i sl s ARl
\“@\?ﬁmt ) s 78 e 1 s
|
W@ Yo | 42- fafafea s 4 4 99 &, 3@ ofi=ge 3
'ﬁ\E\\ i wlfen e, s s Ff
/ w1 weiem i e W
WW*WW“@@““’“ @) W O s w3 %
2 I e o9 w99 9 @ 2 | TG F AF 2 I a2 |
T F UEA AT AR A TG qH @A (b) EiTe= g FETH FH I 92 T8
geft gufe & o s 7 & e o1 aw@, wifE @ Afvas @@
Tuan W afada wurE 98 |
I GEURonat # & SEEE '@ R 2 (¢) U= wT o A H W@ HE 9l
(a) a1 wHel & famedi 1 AfEH = I S
HE ey |
&) W 2 @ R e & T A v a
(© 13 2gM W%mqﬁimﬁ:ﬁ (m
(d T@M1L,Id2 gzﬁm;@mgﬁ'mw )
XDTG-S-DNK (22-A)
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Directions for the following 3 (three) items :

Read the following three passages and answer the
items that follow the passages. Your answers to these

items should be based on the passages only.

Passage - 1

Scientists studied the vernal window —
transition period from winter to the growing
season. They found that warmer winters with
less snow resulted in a longer lag time between
spring events and a more protracted vernal
window. This change in the spring timetable has
ecological, social and economic consequences —
for agriculture, fisheries and tourism. As the ice
melts earlier, the birds don't return, causing a
delay, or lengthening in springtime ecological

events.

41'

following assumpt‘;\om have bec- ma e:

g m@”{\\

armmglb causing spring to come

( @l} and for longer durations.

2. Early spring and longer period of spring

With reference to the ahm e p"bs‘l\bqh(

Passage - 2

A global analysis of nitrogen use efficiency —

a measure of the amount of nitrogen a plant takes
in to grow versus what is left behind as pollution —
says that using too much fertilizers will lead to
increased pollution of waterways and the air.
Currently, the global average for nitrogen use
efficiency is approximately 0-4, meaning 40 per
cent of the total nitrogen added to cropland goes
into the harvested crop while 60 per cent is lost to
the environment, says a study. More than half of
the world’s population is nourished by food grown
with fertilizers containing synthetic nitrogen,
which is needed to produce high crop yields. Plants
take the nitrogen they need to grow, and the excess
is left in the ground, water and air. This’resultSiin
significant emissions of nitrous oxide, a pow\}:t
gre:.nh{mbe and orcfm depldmg gas, anll other
xtmgen \_pollutmn,
uf \akes and rivers and

forms
eutruphua’fnn
con‘\amn\:}mtmn of river water.

including

\.f

\

712. Which one of the following statements best

reflects the most logical, rational and crucial
message implied by the passage ?

(@) An enhanced efficiency of use of nitrogen
is imperative for both food production
and environment.

is not good for bird populations. (b) Production of synthetic nitrogen
fertilizers cannot be stopped as it will
Which of the above assumptions is/are adversely affect global food security.
co ? :
rrect (e)  Alternatives to crops that require excess
(@ 1only of nitrogen should be identified and
cultivated.
(b)  2only (d) Conventional agriculture using
Gi Pkl famidh s;.tnl]wtic fertilizers should be replaced
with agroforestry, agroecosystems and
(d) Neither 1 nor 2 organic farming,
XDTG-S-DNK (23-A)
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uftedg - 3

e weEet # umof
Wedfed ot wuwy SeEy AW #
wEEg fagidl % w9 # am W@ @ 1 A
g g F ol i anfifs faeed @
wifad wd 8 | onfi 9, el ey aiteda
fratamiat ik wwi 4 3 2F figh =i &
d wdgwfa 78 ¥ ue § | =, =nfe e
d dt gufonfya R 1 auify, weEm ofed
w0, @ e ok ma @
e i afim € 1 ot e adl
1 7 fuibres w @ @ fr weEmy ufed @
Iedifsa =afedi #1 o 23 % fan dmnm,
sreififeal i fafem e wem sw@im # am
ST | Ty & fawa i =, g o
FA A FHaEE 9 difm T8 2, 9w sai
SIeaTy Uit % e IHeH & e sraeE
3R wf ik TR & R affd, € wd

1 =g yron w2
(3
43, Fefefen #wi 4 4 @9 Qﬂqus%
mmmﬁm\m }mﬁvm
qeH

\E\\\ Wy
C— H‘ﬁﬂém@m/mﬁﬁi
Qaﬁmmq

feream & = gam @k R |

(b) vAiEwiR FEvA q fava § owmm vy @
et & ik 37t S g R |
?133%1@1 i yomy wRed % Qe
il /ey wonfiE f awensii @
e w0 ®1 o s A

wag aRed, wft sfmi 8, sifrem
fewfim i % w0 g §, Wi @

(c)

(d)

WG 1 IR 9 IaTHd i B
=y |
XDTG-S-DNK (24 -
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44. 1§ YEuA P, adanfis w9 @ waifa Ro affen
TEfg AN A 19T Q A W R | IR
W gavA P, aiffs w1 q waifsa Se aifie
Thfg T @A 1 W H Q & W R, @
frafefer # @ SR ad 2 2

(a) R=S

(b) R>S

(e} R<S

(d RsS

46, T fFm w1 qis § R 1186 = fenfm

i v o sl o
R )
; @\(\

(b)
o

7

46. WFﬁﬁm, PP, qq\'&ﬁtrr, 2&353%@%,
mp¢q<rglﬂﬁpp+qq+n=tto,aﬁ
to F 3.3/ i wew 2, R sifm s
m%,aﬁﬁm%ﬁaamﬁimﬁm%q:
L pHEEoEAH R Tem 52 |
2. qﬂiéﬂaqﬁ?ﬁmﬁgl

Y Fel A B T8 Y 2
(a) ad 1

(b) Faa 2

() 13K 23

(d Jd 1,382
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-+91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

Passage - 3

Along with sustainable lifestyles, climate
justice is regarded as a significant principle in
environmental parlance. Both the principles have
bearings on political and economic choices of the
nation. So far, in our climate change summits or
compacts, both the principles have eluded
consensus among nations. Justice, in the judicial
sense, is well defined. However, in the context of
climate change, it has scientific as well as
socio-political connotations. The crucial question
in the next few years will be how resources,
technologies and regulations are used to support
the victims of climate change. Justice in climate
is not confined to actions relating to mitigation,
but includes the wider notion of support for
adaptation to climate change and compensation
for loss and damage.

43. Which one of the following statements best

reflects the most logical, rational and crucial
message conveyed by the passage ? _, =
({ MV

(a) Climate ju&;w\ahoulfi\be ingriined in
detai \m Lh.e rul o{'.:!}l e new climate

4

{F\\
\( @litl\m@lgts!agreements.
b) Environmental resources are unevenly
distributed and exploited across the
globe.

(c) There is an impending issue of dealing
with a huge number of climate change

victims/climate refugees.

(d) Climate change in all its connotations is
mostly due to developed countries and
therefore their share of burden should
be more.

XDTG-S-DNK (25-
I

44. A principal P becomes Q in 1 year when
compounded half-yearly with R% annual rate
of interest. If the same principal P becomes Q
in 1 year when compounded annually with S%
annual rate of interest, then which one of the
following is correct ?

(a) R=8S
() R>S
(0 R<S
(d RsS

45. How many natural numbers are there which

give a remainder of 31 when 118605 di
by these natural numbers ?

%\\6@

(b)

A\

Z/’:

' g

46. Let pp, qq and rr be 2-digit numbers where
p<q<r. If pp + qq + rr = tt0, where tt0 is a
3-digit number ending with zero, consider the

following statements :

1. The number of possible values of p is 5.

2. The number of possible values of q is 6.

Which of the above statements is/are correct ?

(a) 1only

(b) 2only

(¢) Both1and?2
(d) Neither 1 nor 2

A)
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47. Il 1,2, 334, T 3F1 4 A fEd o F
fomn e, = 37 Wit 430w B FEws @,

Sl 2000 & 9 §, drree T4 R 2
(a) 7998
(b) 8028
(c) 8878
(d) 9238

48. TF T F T H aftud 12 el 4 @
gigomad fem & 10 s Tl & = H
& R 2
(a) 3
b) 11
() 12
d 66

49. 3R I fqam R}, @ dwdw 1009 B

Feferfa 3 (@17) soaivn & forg g -

Fefriaa diT ofess 1 9z st wieae) & H9
M et FF % IW AT | 5 I & o
HTTF I FIA F IO W & i §7 TR 1

ufredg -1

Fiu yfdl F maamy Rl yfied (@,
s vifirdi, =oTE, anfa def Fio oghe) w
W 1 Hid A G 399 % 9 o qargen
I B G T R | TR A s T
wEE w1 g A frafe w0 i dafte smeed
ad HEH F FE FH Al FRw @ 6
HE A 79 A A wEes a2 | o, afts
wEE 1 e, gfage dem gmsii § gai §
9 F A aw gl 2, mqﬁ:l%ﬁ
Wmmmmﬁaﬁfwna@m

FRA R R0 @mm t‘ﬁﬂ? \\s{mmc‘é -3
(a) FUER \ x % d= o
(b) am:qﬁm r’ﬂ_\l‘ﬁ(y?nm
(e) @\} R
‘K, . Frefefen S § 4 |ha v, @ ofese &
Q Ei ‘\ mmﬁvmmmmm
W?ﬁ?ﬁmﬁ e & W R A Tﬁmmﬁgﬁﬁﬁam

mﬁmm%laam
Wmﬁ%’afhnawzsm 78 faa
%1 39 FHvg i Fm fome &1 60 Jave T

(a) UMW R FEEdE 6 o wEE &
Wﬁlﬁtaﬁﬁmmmqaﬁaﬁ@m

IR 3w T Ao R § SRS S i
200 % TR, A R ATE| EWHWT%&WM@
T AR FRE wWE W o wy w2 mm B !
} (c) WFa ¥ 1 1z & fow dw oyfing
(a) 4:00 T YT
Wﬁmmm?@‘ﬁimﬁﬂwﬁmu
(b) 4:10 T WG q5e 3 AR |
(¢) 4:20 T INWE W wwrE Ff F sl swer Iww
(d)  4:30 T TR Ha-me FoafEs o fwfe R
=nfeu |
XDTG-S-DNK (26-A)
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47. What is the sum of all 4-digit numbers less | Directions for the following 3 (three) items :
than 2000 fu?nheddl;y ::e dig!tstl,d?; 205 Read the following three passages and answer the
e a2 items that follow the passages. Your answers to these
(a) 7998 items should be based on the passages only.

(b) 8028

© 8878 Passage - 1

c

@ 9238 Sourcing food from non-agricultural lands
(uncultivated systems such as forests, wetlands,

48. What is the number of selectmns- of pastures, etc) in addition to agricultural lands
10 consecutive things out of 12 things in a ) b to food t'
cirels takeon in the clatiwise direction ? enables a systemic approach to food consumption.
(a 3 It allows rural and tribal communities to sustain
a
® 11 themselves for the whole year and steer clear of

natural disasters and season-induced shortfalls
oLy 48 of agricultural food. Since the productivity of
@ 66 trees is often more resilient to adverse?wea\ﬂ’fer

49. If today is Sunday, then which day is it exactly conditions than annual crops, forest fuo\af e
on 10 th day ? provide a safety ﬁ:\t %ﬁi’{fﬁ\k p\friqsls o} food
(a) Wednesday shortages causea“by cr\fp failure; forest foods also
() Thursday make “impoby tYcontributions during seasonal
© Frid ﬂm@l crop production gaps.

c riday Rl
(d) Saturday @ )k 51. Which one of the following statements best
\ S E} reflects the most logical and rational message
50. ;‘lw@h e, traffic signals., Each signal o
A 45 conveyed by the author of the passage ?
\cha.ra.e;eql colour from green to red and then o
m red to green. The first signal takes (a) Food yielding trees should replace other
25 seconds, the second signal takes 39 seconds trees in rural and tribal areas and
and the third signal takes 60 seconds to community owned lands.
chang,.e g cowour: Tow: groent W0 rec. Tha (b) Food security cannot be ensured in India
durations for green and red colours are same. ith th t tice of —
At 2:00 p.m, they together turn green. At what " i P PRONERL IERCHNR O comvnIOm
time will they change to green next, agriculture.
simultaneously ? (¢) Wastelands and degraded areas in India
(a) 4:00 p.m. should be converted into agroforestry
(b) 4:10 p.m. systems to help the poor.
© 420pm (d) Agroecosystems should be developed in
R, addition to or along with conventional
(d) 4:30 p.m. agriculture,
XDTG-S-DNK
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qftes - 2

wftfnl & swimeemEm sk swde %
M A RN AW AEEH R, 9 W@ 6
gi-gfifdl # vfrdfew faem w1 w0 o g )
et ol wafei gm oo s @)
AT F H A TR S s AW g,
ﬁwﬁwﬁwwtﬁﬁﬁmmﬁ!ﬂmﬁa@
w0 99 A 1 R | wfedfs Saefei @ 87 amn
Seww iyttt wwmoil #1 ag @ R | sy
Fto w5 % ami T sheu-sRrd e &
& FT T T R |

52. fFrefofen weri § 4 #Ra @, W cese

a fe M weEifE gfge s s
H%ﬂmuﬁﬁqmnuﬁfﬁﬁaw\

éﬁ%}

Fﬁ'ﬁ/ wﬁmﬁamﬁm
S 2 |

(a) :ﬂ'g'era

\(’(b)

(© JMeysfedeft shawei & war | @
T e o v Wity w g
fafren Z@vme & srafifim 2

154

ON

uftedy - 3

3= EE H et e F e o
o< g €, wa faeefl faen gff = e S
A F F I e oiga § 1 9w Gl
8 v wor dEm 8, s ww B @
FA B D F F AR @ IR B A
TG F@ R | TH TR FoammE § T
Fferal wmr ad &, oiv sififura wriae @ %
i i § @ w3 2 oww A
S % WY we fren oW § owm
fﬁlmaﬁmmmmmﬁgﬁm
. e, mﬁmwaﬂmaﬁmq’ i

At 7 & v |

c\\O of-*
ﬁﬁﬁﬁﬂmnﬂﬁqm@,mm%
i 1 et w9 & gfafafim s g o

() Fowaf@m o & o, wia 5 achife
e fen § faw w0 A sy
2

W O faraafi W w ww it
T A AT WA @ e R w d
3R 3 @ @ dafifa w2 |

Tl fen woneh § 3= fren % dhw
B FER B RS e R s

(b)

(c)

@ siwufmin wefei B e weEi i =feg |
5 3 .
;mmmm:%qq:@um%mwﬁﬂ @ forareri % o w=ii % mrn-fean freaw
SURILED E R RS O p—
T &
XDTG-S-DNK (28-A)
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Passage - 2

While awareness on use/misuse and
abuse of antibiotics is common knowledge, as
is the impact of dosing poultry with
antibiotics, the environmental impact of
antibiotics-manufacturing companies not
treating their waste has scarcely been
discussed at any length or seriousness thus
far. Pollution from antibiotics factories is
fuelling the rise of drug-resistant infections.
The occurrence of drug-resistant bacteria
surrounding the pharma manufacturing

plants is well known.

52, Which one of the following statements best

reflects the most logical and practical message

R

conveyed by the passage ? “ ,ﬁ‘iﬂ

11 @\

(@) It is necesaary proper effluent
ﬁtre@ment pro\.ocols in place.

\b) It is necessary to promote

environmental awareness among people.

(c) Spread of drug-resistant bacteria cannot
be done away with, as it is inherent in

modern medical care.

(d) Pharma-manufacturing companies
should be set up in remote rural areas,

away from crowded towns and cities.

XDTG-S-DNK

Passage -3

Benefits of good quality school education
accrue only when students complete and leave
school after having acquired the gateway skills.
Like one learns to walk before running, similarly
one picks up advanced skills only after picking
the basic foundational skills. The advent of the
knowledge economy poses new challenges, and
one of the severe consequences of having an
uneducated workforce will be our inability to
keep pace with the global economy. Without a
strong learning foundation at the primary level,
there can be no improvement in higher education
or skill development.

o

) 0

53. M’hlch—one of the following statements best
\ﬂ reﬁects e crux of the passage ?

(a) To become a global power, India needs to

invest in universal quality education.

(b) India is unable to become a global power
because it is not focussing or promoting

knowledge economy.

(¢) Our education system should focus more

on imparting skills during higher

education.

(d) Parents of many school children are

illiterate and are unaware of the

(29-

benefits of quality education.

A)
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54.

65.

56.

XDTG-S-DNK

(|

40 T JOTHR ¥ A @S € 3 I A (AW
fifsre, a=n #9i®-1) % 99 & Tea 2 | 3@
Fool B afered fem § o wla ()
forn wmen @ | @ HEE-1 38 Ted H g
HIH-2 1 GTE HA R, T HEH-2 T =
UTH-4 ] 9T FI R, T FHIR-4 TH T
FHIE-7 Tl W B 2, i 3w § ) om
g fen s & | W@ fead ofwddl (=0
m.lﬁﬁ?@ﬁmﬂsmﬁtﬁw
FUIH-1 % 74 8 & 2

(a) 14

(b) 15

(c) 16

(@ 17
i

ZZLY, YV, XXX, X, W,W,W,W,W,... A
I HEY 92 1 R 2

(a) H
(b) I

(b)

FH: FpAGIRqA? ﬁﬁ\i\“@

wre: AN

(a) 8 991 W IW, A A A el o wew
Hel |

() ¥ 9F F IW, qH HUAI H TH TY
T FeAl |

Y
Ry & an § Preaffea § &
F1 3hel Iwm G s o 2, g
W UH FIW, A A FR Wt v Fom
IR W fem w wwan R, feeg e A @
W YA F OIW, qH T B OTH A

(d)

57.

58.

\

@ M 1

W-f;pxqgat%

PG 7 2
TE F F IHS IF W o W
&1 el I7AM 2 I mwar @
et v Fom 1 s 3wm
IwAm Fh i 7 fem v |

(30 -

A)

T (p+q-1) T 2 (p-q+r) ¥, Tal
p,qaﬂtr ¥

-1 (p-q) UATHE R |

FY7-2: (p-r) TOMHF ¢ |

I e 3R Fe F ar A PefaRes § @
HIH1 T T R 2

(a) ¥ WA F IW, aHl § 4 el wF Hom
W 3ol I9Am = fn s ww R, feg
TR FY F bl IFAM H A e
Hhl |

T U H I, g1 8 @ fredt of v e
T bl I7ANT R e = T § |

T W K IW, I HEE B UE Y
IR H e s v B, e O A @
foelt wh Fom w1 arkd Iwm w A
ST Hehell |

T WA W OIW, Y FE N OTE A
IR w0 oft 7@ fem

Tﬁb‘rr\[t
%Gﬁsﬁﬁm“gﬁ,ﬁ@ﬁm TR CEEC
60 i 3 aﬁﬁ@ﬁ&;ﬂua%ﬁ 3 =
c—aﬁi((wﬁi ?Ql\qgéﬁmﬁ%mauﬁai’r
T ) & T =l 3 Fndan o
g ferm |
w77 shifaits 6 fRem saf ofeda go o
FeA-1: 50 SAfFadl 3 2y fomn |
w2 fifods § &1 et safwdi i

HEl hadl Y o a9 sAfe @)
qE i gt T oft |
I Y o s F an ¥ frefafen § )
HH-HT T T R 2
(2) 38 A H IW, A § } e o wom
F1 3he IFM o wewa R, R
T HA H bl I T fear o
TRl |
W W B IW, g1 A A Rt off v e
T Hebel I 2 S wewa 2 |
W 9A F IWM, oE FYA B T Y
I W fem e R, e OFi 6 @
el v wom o oRbe Iwm W T R
W G |
W IH FH IW, qH U F T A
I s ft Tl o e |

X

(b)

(c)

(d)

(b)

(¢)

(d)
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b4,

55.

XDTG-S-DNK

40 children are standing in a circle and one of
them (say child-1) has a ring. The ring is
passed clockwise. Child-1 passes on to child-2,
child-2 passes on to child-4, child-4 passes on
to child-7 and so on. After how many such
changes (including child-1) will the ring be in
the hands of child-1 again ?

(a) 14

(b) 15

() 16

@ 17

What is the middle term of the sequence

ZZYVY,YXX XX WWWWW.. . ,A?
(a) H
(b) I
(¢ J
d M

Question : Is p greater than q ?
Statement-1: pxqis grcuter than zem@
Statement-2 : p \IS greawr t.han q

Which one.of t{\e f?“ﬂ\ﬂn g‘m"cogrect in respect
ofithe abov@Qu\estmn and the Statements ?

_—f;‘l

{’ The Question can be answered by using
one of the Statements alone, but ecannot
be answered using the other Statement
alone.

(b)  The Question can be answered by using

either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered using either

Statement alone,
(d) The Question cannot be answered even

by using both the Statements together.

(31

67.

58.

b\ﬂ
=

-A)

Question : Is (p + q - r) greater than

(p-q +r), where p, q and r are
integers ?

(p - q) is positive.

(p - r) is negative.

Statemnent-1 :
Staterment-2 :

Which ene of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot

be answered using the other Statement

alone.

(b) The Question can be answered by using
either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone.

(d) The Question cannot be ans

red even
by using both the Statements togethu:\

In a party, 75 npersuua fnok\tea 60 'persons
took coffec®: 'md 10 pérs\clm&took oth tea and
coﬂ'ce ~No one takmg“nnlk takes tea. Each
parson “takes at least one drink.

Question: How many persons attended the
party ?

Statement-1: 50 persons took milk.

Statement-2: Number of persons who
attended the party is five times
the number of persons who took
milk only.

Which one of the following is correct in respect
of the above Question and the Statements ?

(@) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement

alone,

(b) The Question can be answered by using

either Statement alone.

(¢) The Question can be answered by using
both the Statements together, but
cannot be answered wusing either
Statement alone.

(d) The Question cannot be answered even

by using both the Statements together.
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59. el 3.311 i & wEm w faem fift |
¥H: GRUSEIHIR?
FUF-1: IV A F FH F AMEA DI
TUASE & TR R |
FYA-2 : AR W], IW HE & A F ATES
T fawrsm 2
YT WA IR FeEl F 9n § Frafofed § )
S8 T T R 2
(a) 38 99 1 IN, A ° ¥ 5l v wo @1
et I7Em R fen w wn R, fg g
FH F AhA IEM A fmm oW
T |
W TH H IW, oH 8 4 R f s
1 Hbe ITAM H e T wFA R )
W A F IW, IH FHE W WY
IwEm F e ww R, feeg 9 6 @
Tt v Fua 1 e 3w A R
N T |

w‘m@m,ﬁaaﬁquﬁm
3I9Am w78 e s wean |

60. qﬁ?ﬁ]%m,ﬁﬁﬁﬂfgac‘:ch<dce

mr_l%;g%@ﬁtﬁiﬁaﬂﬂmmg%aﬂazaﬂ

H AT R | X

S Ea. o 3

(b)

(c)

(d)

\W\“

Feaferfem 4 (=) svaivn & fore Fdr

Feffas s 9fi=eel # 9iFw sk whedd & i
i @il g & I A | 37 s ¥ R
3T I e §7 Ufregel W & AT §17 TRT |

uftedy - 1

fares & funme # gfg & ™
FEH F T W RN R | 141 v &
CEITE M@ (Jean Buridan) A TE
Tool-e 3R o fawedl it sififFaaanati &
FR =TT FA 6 sEndar & an § frar @ |z
FEH A, TH TV Y@ F @ W9 T A S
el & = @l R | 9r Fd ¥6 @1 @, g
fofs 01 3 sremd @1 = a8 @ w2
wﬁﬁﬁmaﬁmﬁq,%&ﬁsmﬁmaﬂt

, # 3 a1 Fera gAR fawei
) s i ) 9§ 1 7 TR e
ma%maawomﬁ;_qqﬁm\mﬁﬁia\ )
ren-fiaa eai @m}\j L F TR A TE
aigd, e\ ok st % @ s @ |
Sfig T ﬁm‘%lmﬁnﬁ%mﬁﬁm
& 8, f ot @ @z &
g@aﬂtﬁamwﬁ;@m =

FeA-1: HIG 9% T 6 HEE B T h
4 - \:¢

Wq:g‘g@"\\’lﬁaﬁ\ 61. Ffafen Femi #§ @ B I fteag

2 0 & e Y g R ) i fift T T S 2w
\Cﬁﬁa-ﬁ@aﬁ%? I & 2

(a) gziu:qqmlm,a‘m"ﬁéﬁﬁmuﬁ;mm @ e drifel st T @)
FE B R I W A W 2
Tl f AR

(b) wmlwm,éﬁiﬁéﬁmmqasw o ﬁm‘ﬁﬁ‘f” A o ap
T Sehet 3T W fz  wwar | o Fwd

(© T 5@ F IW, I FoE w0 A () &9 Z@0 h T & wfaa @9 § ik a
IR R 1w R, feeg 26 A R AT Fo-favam @ sEw W A e
fooeht v w1 R Iwdm = A R T Bl |
TN FHA |

o ) ®R A, =i F fwey g
@) 0 YA F IW, I FH T @ Y e .
il F=dl 4w T A, g awa afoe Reew
394 /
L R om0 31 8 1 e 1
XDTG-S-DNK (32-A)
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XDTG-S-DNK

Consider a 3-digit number.
Question : What is the number ?

Statement-1: The sum of the digits of the
number is equal to the product
of the digits.

The number is divisible by the
sum of the digits of the number.

Statement-2 :

Which one of the following is correct in respect
of the above Question and the Statements ?

(a) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement

alone,

(b) The Question can be answered by using

either Statement alone.
(c)

The Question can be answered by using
both the Statements together, but
cannot be answered using either

Statement alone,
(d)

The Question cannot be answered even
by using both the Statements together,

For five children with agesa<b<c<d <e;
any two successive ages differ by 2 years.

Question ;: What is the age of lhg,yotfﬁgnst

child ? ﬂ‘ \\x\‘*f’

Statement-1 : Th\é:‘\ftzgg\o@s}\.-l est is'3 times
Ghe youngest.?
L3
Statément-2 ‘.'l Tl_lélaverage age of the children

\ \ is 8 years.

Which one of the following is correct in respect
of the above Question and the Statements ?

(@) The Question can be answered by using
one of the Statements alone, but cannot
be answered using the other Statement

alone,

The Question can be answered by using
either Statement alone.

The Question can be answered by using
both the Statements together, but
cannot be answered using either
Statement alone.

(b)

(c)

(d) The Question cannot be answered even

by using both the Statements together.

Directions for the following 4 (four) items :

Read the following four passages and answer the

items that follow the passages. Your answers to these
items should be based on the passages only.

Passage - 1

The paradox of choice is illustrated by the
story of Buridan's ass. Jean Buridan, the 14!
century philosopher, wrote about free will and
the inability to choose due to numerous choices
and uncertainties. In the story, a donkey stands
between two equally appealing stacks of hay.
Unable to decide which to eat, it starves to death.
Changes in technology and innovations such as
smart phones and tablets only exacer?mte @'
glut of choices. gonsgtr_gl: connectivity, and
overconsumptién of renl;{ime&data “and social
medid can/I¢ave little voom for self-reflection and
rest, n{}ﬂking decisions more difficult. Life is
about choices. Many people are overwhelmed
with attractive life choices, yet find themselves

unhappy and anxious.

61. Which one of the following statements best

reflects the most logical message implied by
the above passage ?

(a) Modern technology enfeebles societal

structure and makes life difficult.

(b) Modern life is full of uncertainties and

endless difficult choices.

() We are influenced by the opinion of
others and have no courage to follow our

own convictions.

(d) In our lives, having too few choices may
not be a good thing, but having too many

can be equally as difficult.

(33-A)
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qftess - 2

e e o 4 & 1 ) g
3R Hyer S o sftEefeai § w0
#N 2| THa & fadfigww #1 g 3 F W
g @ | qwome dRaldsi @ enam
SR, S & fodfe § T g wdm
e F T T FEEC §, 9 € gde A,
fea fafm wwenall & ufa @vm, @ ar &
AUTOE g F e R m afEm F f
I FA3 3 FarvEaed § § PR 4w
= 2, i AR EwEE A, @ I RmE =
TEd € A T, AR (F o & @) B = oEE
g1

62. e TGl & fadiww F wEy §, fefafe
HHl § d BHHH 4, 39 qfedg § fifk we

%1 gaH &9 § yfafafaa w@ 8 0
1. & @ RehE wS ﬁ\f\-\@
. Q‘\\m((ﬁh

A \K\a@*’
ITER &9 U EEl ) IR

%

ufedy - 3

Iy 92, T =M 9 W YT
aafy & fou dew wE ww € 1 3w
el ® T8 ol e 2, fF 3 zanei f
#ra Ruifa w, A wwfrer f saf o
@d 3 7 U | 38 favEm fen wm @ 6
9% FA ael W fem T tm ¥ dewm
TG I U W@l 3@ % 2RE AguadHl a9
IFEuE IR fawm (R&D) & wem @
sl g, qafy e fog s dma 3
gl R, S s ¥ 6 gf T % foe smamsa
it Fma & w1 A 26l 2 | qufy 3 W
e 3 FMa G, 192 @ H A
ﬁmﬁméﬂujﬁﬁﬁnﬁ%mﬁ
ﬁzzmﬁmaﬁmaﬁ?aﬂt

mmmmx\

630 \ amm R, f=fafea
iy Er—rréﬂs%

\“ 1. mwmﬁﬁ{qmﬂ&mm%
w0, Y2 aEh gEd gaw o 1§

gﬂmumzﬁmmﬁaqtmﬂa’mm
|

sitevfia Ieri % fv o= 29w finfan,
?&mﬁaaﬁtﬂﬂaé@ﬁ%ﬁmmﬁm
I

A <l 1 A e s

3. faefm wifieh & Tawada amavs § | H & A, FTEU B G T H
aﬁmm W AN I W T
4 i o Fe w1 wEm = 3w gfi e :
K 4. WHH % fou @ v @ oA A
@ ¥ 1302 W A & sfuem i ofm &
HAEATEFHAA & F9 IR Hger a1 |
(b) Faw 230K 3 3T gl # A Sk @ du § o
. (a) 132
(¢) Fas1 133 (b) 13 4
(d) 1,233 :;)} gﬁ;
XDTG-S-DNK (34-A)
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62.

Passage - 2

Household finance in India is unique.
We have a tendency to invest heavily in
physical assets such as gold and property.
Steps to encourage the financialization of
savings are critical. A populace accustomed
to traditional processes will not simply jump
into financialization. Hurdles to change
include onerous bureaucracy, a scepticism of
organized financial institutions, a lack of
basic information about which of the myriad
services and providers is best for each family,

and how (and even if) one can make the

transition between them if necessary.

Regarding the financialization of household
savings, which of the following statemcnts
best reflect the solutions that are'\lmpxd b(
the passage ?

1. A ﬂmhle envir

X(J ‘ﬁ\elq;solut{\zém

Households need customised solutions.
3.

ment 48 needed to

Innovations in financial technology are

required.

Select the correct answer using the code given

below :
(a) 1and 2only
(b) 2and 3only
(¢) 1and 3only
(d 1,2and3
XDTG-S-DNK
PEENE—

Passage - 3

Pharmaceutical patents grant protection to
the patentee for the duration of the patent term.

The patentees enjoy the liberty to determine the

prices of medicines, which is time-limited to the
period of monopoly, but could be unaffordable to
the public. Such patent protection offered to the
patentees is believed to benefit the public over
the
research and development (R&D), although it

longer term through innovations and

comes at a cost, in the nature of higher prices for

the patented medicine. The patent regime and
price protection — through a legally validated
high price for the medicine during the currency of
the patent — provide the patentee with a
legitimate mechanism to get returns on t %e -.KA%

incurred in innovation and research.
o)

63. Based fgp lhe nho\vu(-\a.sbng , the following

\/

A\

a:,aumptmnb\;avt. been made :

Patent protection given to patentees puts
a huge burden on public’s purchasing
power in accessing patented medicines.

other countries for
products a  huge

burden for developing and poor countries.

Dependence on

pharmaceutical is
Providing medicines to the public at
affordable prices is a key goal during the
public health policy design in many
countries.

Governments need to find an appropriate
balance between the rights of patentees
and the requirements of the patients.
Which of the above assumptions are valid ?

(a) 1land?2
(b) 1land4
() 3and4
(d 2and3

(35-A)
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gftesg - 4

WA 1, AT & dafes g0 (3a) frowe
R wifem vEd gy, fefea srdegawn 4 wgfy
# ghfraa we =iz | w1 o, W@ awE §
el frmel et R, W e § el feed i
A Foft Teemifat wee 8 @, Favads 7@ Fom |
T g PR e & o g
gt R A gfm am &, 3R @ o=, dm 3
1, I9Em % fau gew, sl 0 e s
|1Mee | gafere, 36 W FEE g0 GE IER H
qavadd, S WedAea ol Peme @,
G g =T |

64. I e & MR W, Frefafea wurom
TR 8

1. from = e am sfier @ R, s
T HeerEEd & fau g § |

2. Fomn 3t Tavad & 99w smom
w2

?:;ﬁ?ﬁa::n:nwﬁﬁm@ﬁau%/ﬁ\(\@

Snet

(c;,\ \@T

\C m’1=r'€|2

65. foweht wlien #, IR w.udi, 7mmW: p, Q, R 3l S
4 8 Y% WA % fow st o 100 £ |
ferenfiai g wm foru o o quitei & & |
i feenefi n fafim alii & 999% Wi & 5=
BRI nHI AR IR ?

(a) 16
b 17
() 23
@ 35

XDTG-S-DNK (36-A)

66. TR T wam, /AT A g0 @

wff o F M w| an dfaw ofgEw g
yiEia = @ | feae W@ fafim i @ @
foran =1 wwa 2, 39 YR A B o & e
i@ mR T

(a) 12

(b) 18

() 24

@ 36

67. Tt sgaaR w9 & 99 @@E F 4m 3R

W H 22 m 2 | 140 ecm x 60 cm WY H
mmwmﬁm%%m@@ﬁ
7 g6 | fFef i amm mﬁt@m

ﬁm‘ﬁlﬁﬁq%’“ % v fe e %

ﬁ:ﬁna\mmﬁ rtmiqzaqﬁmuﬁ'm

\E,\ asammﬁ%v

6
(b) 7
) 8
d 9

. P, Q R, S 3R T 9f9 =uf €, ol & v

=fh H1 T FA e R | FHa AR P Ay, 7
& Q ® W0 M wHA R | FH-2 WA R A,
7 S w & i I R | wE R TR d §R
1 8 2

(a) 6

b) 12

(© 18

d 24

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

Passage - 4

India should ensure the growth of the digital
economy while keeping personal data of citizens
secure and protected. No one will innovate in a
surveillance-oriented environment or in a place
where an individual’s personal information is
compromised. The ultimate control of data must
reside with the individuals who generate it; they
should be enabled to use, restrict or monetise it
as they wish. Therefore, data protection laws
should enable the right kind of innovation — one
that is user-centric and privacy protecting.

64. Based on the above passage, the following

assumptions have been made :

1. Protection of privacy is not just a right,
but it has value to the economy.
2. There is a fundamental link between

privacy and innovation.

i"»

Which of the above assumptions :s!a;e‘bahd

(a) 1lonly \\’\\Q
(b) 2only k\@%

#Bot fln

@mther 1 nor 2

65. In an examination, the maximum marks for

each of the four papers namely P, Q, R and S
are 100. Marks scored by the students are in
integers. A student can score 99% in n
different ways. What is the value of n ?

(a) 16

(b) 17

() 23

d 35
XDTG-S-DNK (37 -

.
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66. A flag has to be designed with 4 horizontal
stripes using some or all of the colours red,
green and yellow. What is the number of
different ways in which this can be done so
that no two adjacent stripes have the same
colour ?

(a) 12
(b) 18
() 24
(d) 36
67. A rectangular floor measures 4 m in length

and 2-2 m in breadth. Tiles of size 3,40 c
60 ¢m have to be laid such that the tlles 5
overlap. A tile cgn be placed in any orlenta ion

so long as R& edges are parallel to > the edges of
the flgor. What i

tilﬁ that.can be accommodated on the floor ?

by

the maximum number of

N

> (a) 6
(b) 7
0 8
d 9
68. There are five persons P, Q, R, S and T each

one of whom has to be assigned one task.
Neither P nor Q can be assigned Task-1.
Task-2 must be assigned to either R or S. In
how many ways can the assignment be done ?

(a) 6

(b) 12
() 18
d) 24

A)
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69. Hﬁﬁﬁng.figm, 10 gm, 25 gm, 50 gm ¥
arl gRg HEw ° wid F faas € | el
HeFl o famm Hifen .

1, 78 gm fowni @1 E’ﬁaﬁ % ﬁ.“l"{
w4859 7 faws @i smawas R |

2. % ol #1 39 = 78 gm WR T
F % fou 7 & w0 foes Iw@m § s
W HHA B |

I oA § @ B w3 2

(a) a1

(b) Fad 2 .

() 1 3R 23

(d JAd 1,982

70. Frafafes w faam $ifw .

L A+B®IRAT@SULB A, 3
TR EBH |

I. A-BR AdRATTITH2BY |

L. AxB@I 31d 8 AT 7 2 HI

IV. A+B® Ad42 A7 “wg
HTIER%BEI

l@ %téj‘ vra% Taw R
A

f’f\
( PxQ, P-T, T+R, RS

ad.r: QT

2. S+Q

I HA i fFrowdl & A i frefifeg § &

P91 TF H R 2

(a) FUA F Faa Fewd.1 Fmfim g 2

(b) FU A Faw Frepd.2 Fmfim 2 3 |

(© % F fropd.1 o .o 26 Ffir
g g

@ 8 3@ Frerd, 3 @ frerde fmfig
B @ |

XDTG-S-DNK

Faferfam 3 (1) svaron & oo fdr -

Fefeia @7 ofedel & 9fFw Ik gfiese & #i9
R I T F I A | 377wl & fw
1Y% I Fac 3 WRedel W & Imamfia g7 TiRe |

aftedg - 1

a H, Fafl Fwml @ sferaen %
¥ P ®g AR Wgw Ren W aren
uAgE R, fR ft wper ol @A d @gd A
Wl g F afwia, TR e ok faf| dd
| =t A gyl ww A W g
WA 6 FwE T 2, f sem e
Atfedi T e d R i W sfes I
et FHE Hi e 7 F F fou wehen w3
ﬁmmﬁ@ﬁ%tmw&mmuﬂm
mmmm%mmﬁw\ﬁ

s 2, aqﬁzmg;}g%%@:a%maﬁ

(38 -

'GH m%@mﬁmm%,aﬁ
frafafes wedi 4 4 @hw o, gt
awifaa w9 # wfafafaa w2 2

(a) ®Fell 3N Hierwl § THIET 3= 2 A
Fovan 5 wqoreren 1 ey @

(b) T R g AR § Pt wv @
o<l g8 fen o smwiznsi ¥ wem H
¥ H @1 9F =@ifRy |

(c) fawme we&m # A i # aEERE
w % o B smoean @ gm T
g1

(& fan el # wyfan w9 ¥ e
frn s =nfee ifts frfim <init % R
ia-mgzm:-gn

A)
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69. There are large number of silver coins|Directions for the following 3 (three) items :
weighing 2 gm, 5 gm, 10 gm, 25 gm, 50 gm | Read the following three passages and answer the
each. Consider the following statements : items that follow the passages. Your answers to these
1. To buy 78 gm of coins one must buy at |items should be based on the passages only.

least 7 coins.
2. To weigh 78 gm using these coins one can e
use less than 7 coins. In India, while the unemployment rate is a
Which of the statements given above is/are| frequently used measure of poor performance of
correct ? the economy, under conditions of rising school
(a) lonly and college enrolment, it paints an inaccurate
(b)  2only picture. The reported unemployment rate is
(¢) Bothland2 dominated by the experience of younger Indians
(%) Neither1ror3 who face higher employment challenges and
exhibit greater willingness to wait for the right
70. Consider the following : . i
) ) job than their older peers. The unemp?uyni{t;l\
I. A+B means A is neither smaller nor . - N\
sanabini. challenge is greater gjr pt:.-;\p\lt\ylﬂ‘l\.h secondary ‘or
R A Bnanany ALt ok pranbe thas B higher educatiﬁtﬁl\. and ﬁsin}g\educuﬂon levels
III. A x B means A is not smaller than B, inﬂat@uncrﬁﬁloqu\ent allénges.
IV. A+ B means A is neither greater nor
el fu 5. k;’ll. Which one of the following statements most
V. AxB e\ A ds ﬂ'“’"—‘ S“U'-‘ nor|  likely reflects as to what the author of the
greater I.han B. m passage intends to say ?
Sfarcme -T, T+R, RS
o,,cgm n-I Q+T (a) Enrolment in schools and colleges is
C\,oncluswn-z S+Q high but there is no quality education,
Which one of the following is correct in respect (b) Unemployment must be seen as a
of the above Statement and the Conclusions ? function of rising education and
(a) Only Conclusion-1 follows from the aspirations of young Indians.
Statement.
(b) Only Conclusion-2 follows from the (¢)  There are no labour-intensive industries
Statement. to accommodate the huge number of
(¢) Both Conclusion-1 and Conclusion-2 unemployed people.
follow from the Statement. (d)  The education system should be properly
(d) Neither Conclusion-1 nor Conclusion-2 designed so as to enable the educated
follows from the Statement. people to be self-employed.
XDTG-S-DNK (39-A)
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ufegg -2

“fasm w4 o vl 99 R, faaei & am
ft vh 79 I FramsgEr @ smavEs R S
ﬁaﬁwww‘aﬁ:ﬁmamﬁm
fefim =t | F8 i semEn % 9 3 Se@mn
@I S A1, 3N e A # " 9w fFuifa
fem mn & | faam w1 fawdh savawa 2,
2 ot — dwfs v & favemw sk
i faam wadl & & | i fmm @
, WEN FI i T F WA F FRO P
2 | g7 & fosm % @y diw 9 dav 2,
S TSl @ T S WY R wed 7 iR

ﬁ%%ﬂi

uftedy - 3

‘TS w1 difm wE @ W wyeE @
T 2, 7 @ 3 30 W Frfa @ R afew
g 2 fred e wa @ g |1, aifs 9
gl e & |y, v ge H WM A g H
gl wge fan, S o% 3 #/ = @6 |
JE E, T H G gigam wbE i
qfgdi wgel i nefl 8 agw T A R | @@
A R, Ik WG F 3R I 1 B g
FH FE B g T | TR @E R, @il R
a3 fads & aan A, it 38 swaEr § 9N
AR A A @i 3 R wfw wogon,
AN TAHR H TR A W, T @ g F I
ST |7

94F E T e o e |73, 3T ieag & sun w, Frafiifea @@ b @
IregeTy § age w2 17 aﬂq.mqm,m%mamaﬁmmﬁ
N eh BT R % \
72. Feafafes s 4 4 FRa o, @ e (@) mﬁ‘ﬂga— @ ©
g = Haitus difde, g it smaeie ° W WW% A
TS P FAH 9 § wfafafaa & 2 9 i) g
(@ myfE TAwEE @ amﬁm\qzﬁ@rf\“ s
b o i ey afifeg A (@ =@
3“3?“_“53"3\%, H'[Fﬁﬁ'-? AT ’ﬂ-ﬁ:'ﬂ:iﬁ,
@?\aﬁm;mz\fir\@)@\%md"mﬁa% 292 i 68 w1 T W AvwS T BW 2
\.\-,‘ {\\ W\ (a) 0
\C(bﬁﬂﬂiﬂiﬁﬁ T R e smafig (b 1
Wﬂmamuaﬁ:agiqaa‘q;ﬁgw@ © 2
am ofi 3@ 3 e O aeaw 6 d 4
g{;ﬂﬁﬁﬁl & o fma gfgmen wfafafia | 45, S
Al
ABC_ _ ABC_ DABBCD_ ABCD
(© fh Tz /A war & @ v § ¥
mﬁ@ﬁdﬁﬁmmﬁﬁwg‘i W faam Hifiw, 5 o Bt sfe @
IR o e W g g
& At vgfi o uifie faem Frefifaa 3 @ ®R &, @ s
wfeaw 3 W FHza @ k H R 2 e o
@ %’ T ? F of dmfe & et (a) DACB
@ma%@ammﬁ,m&ﬁm (b) CDAB
T & 3N 38 yER T ¥ R (¢ DCCA
YA e I g | (d DDCA
XDTG-S-DNK (40-A)
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Passage - 2

“Science by itself is not enough, there
must be a force and discipline outside the
sciences to coordinate them and point to a
goal. It is not possible to run a course aright
when the goal itself has not been rightly
placed. What science needs is philosophy —
the analysis of scientific method and the
coordination of scientific purposes and
results; without this, any science must be
superficial. Government suffers, precisely
like science, for lack of philosophy.
Philosophy bears to science the same
relationship which statesmanship bears to
politics movement guided by total
knowledge and perspective, as against
aimless and individual seeking. Just as the
pursuit of knowledge becomes scholasticism
when divorced from the actual needs of men
and life, so the pursuit of politics becomes a
destructive bedlam when divorced from
science and philosophy.”

72. Which one of the following statements best

reflects the most rational, logical and practical
message conveyed by the passage ?

f;
(a) Modern statesmen need *E?z be@eﬂ
trained Ln r;\ scmnhﬁc . IBethuds and
ph:losophmal tlnnkmg to énable them to
have= a\better perspéctive-of their roles,

f?ea-pgnijthhes"’and goals,

¢

b '!l) 1s not desirable to have Governments

managed by cmpirical statesmen unless
well mixed with others who are

grounded in learning and reflect
wisdom.

() As the statesmen/bureaucrats are the
products of a society, it is desirable to
have a system of education in a society
that focuses on training its citizens in
scientific method and philosophical

thinking from a very early age.

(d) It is desirable that all scientists need to

be philosophers as well to make their
work goal-oriented and ‘thus purposeful
and useful to the society.

XDTG-S-DNK

Passage - 3
“The last end of the state is not to dominate

men, nor to restrain them by fear; rather it is so
to free each man from fear that he may live and
act with full security and without injury to
himself or his neighbour. The end of the state, 1
repeat, is not to make rational beings into brute
beasts and machines. It is to enable their bodies
and their minds to function safely. It is to lead
men to live by, and to exercise, a free reason; that
they may not waste their strength in hatred,
anger and guile, nor act unfairly toward one
another.”

73.

'74.

75.

(41-A)

Based on the above passage, which one of the
following terms best expresses the ultimate

goal of the state ? \ m

(a) Personal safcty
(b) Healtﬁ of bad)' and ir
€3] cwmmunal h rmony

()\Q(d Libdy

What is the remainder if 292 is divided by
6?
(a)
(b)
(c)
(d)

=N = O

Consider the sequence
ABC_ _ ABC_DABBCD_ ABCD
that follows a certain pattern.

Which one of the following completes the
sequence ?

(a) DACB
(b) CDAB
(c) DCCA
(d) DDCA
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76. AB 3R CD 2-37%1 arelt §&910 8 | AB %1 CD
¥ N FA R AR 3-37hi Hi G DEF
WH Bl ® | DEF W1 379 3-3/%1 $1 §&41 GHI
UM W95 WA § | M9 A A, B, C, D,
EF,GHIm3wg 1aRE=0 F=8 1
A+B+C o st 2 2

(a) 6
(b) 7
() 8

d 9

77. U9 W P, Q, R, S oM T % =R § fiefiria
Fl W foEw Fifwe, fm 9 = e § ik
TF HYT JE 8 |

a7 FY9 : Paﬁzqnﬁqas,m%ﬁm
AL\
G F R\ f]{\ m

78. WM WifC P, Q, R, S 3 T 9w % £, 3§
ﬁl’(%:

. IWpPpEwR diQansaHiamid|
II. sRRRSETE, A TawmIR |
frofafes 4 @ sSRaA frad femn

Hehal 2/ I Tehd & 2
1. AWTEIR @ PARA Y FuATn
Th H99 39 2 |
2. IMQEER APEER |
19 fou e gz =1 WM = T Iw gh
(a) Faa 1
(b) a2
(c) 13'?.'{2@7{?
@ T@A1L,T@2
79. TcmxomxScmﬁ’mm'ﬂE &
U 7 em x 5 cm, 5cmx3cmﬁ2’cm\x@cm
fomaii o TerE mmwaﬁm
ﬁﬁwﬁama@w%ﬁmmm#
omm cm mﬁﬁﬁmmaﬂ

ﬁ\ﬂﬁn%ﬁaﬁwﬁ"ﬁmm@aﬁ

\ﬁ\

T 353 15 B w9 § fome fee off
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Fefeh T IS TT T8 2 |
2. U I 6 oR W § REF dwdw
Qsaﬂt'mﬁaﬁm&aﬁm ababidd Ll
( 3, 8 & e 3 M i 1R T Fe o W o
fefafes 4 4 shad fed Sem @ (a) ad 1
o /e awd § 2 (b) Had 2
1L #H % o 9897 91 et g3 o | () 1 3R 22
2. S FE F e 5 | @ T4 1,782
A 80. « ”
SRy S—— s ol T :1? INCO\;PREHENS;IL;TI:{:EST %Tm ?{T
(a) ad 1 ﬁféﬁﬂﬁ%ﬁfﬁ:ﬁ/ﬁﬁmmﬁaﬁa
(b) Fae 2 (a) %Eﬁﬁ‘ﬁ’{ﬁ
(€ 1 3R 2gH (b) THH
d 5 0 FJR
) LIRS @ d=H
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76.

1.

AB and CD are 2-digit numbers, Multiplying
AB with CD results in a 3-digit number DEF.
Adding DEF to another 3-digit number GHI
results in 975. Further A, B,C, D, E, F, G, H, 1
are distinct digits. IfE = 0, F = 8, then what is
A+B+C equalto?

(a) 6

(b) 7

() 8

d 9

Consider the following statements in respect
of five candidates P, Q, R, S and T. Two

statements are true and one statement is

false.
True Statement : One of P and Q was selected
for the job.
v\a O
False Statement : At least one ﬁfcR\ and\\S\vg'a:s_
selecte'ﬁ‘-ft;al}' the job.»
True Statement At most‘{'u\\Lf R,Sand T
w were selected for the job.
\\Vhlc of the following conclusions can be
drawn ?

1. Atleast four were selected for the job.

2. S was selected for the job.

Select the correct answer using the code given
below :

(a) 1lonly

(b) 2only

(¢) Both1and2 58

(d) Neither 1 nor 2 o
XDTG-S-DNK
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78.

79.

80.

_A)

Let P, Q, R, S and T be five statements such
that :

I. IfPis true, then both Q and S are true.
II. IfR and S are true, then T is false.
Which of the following can be concluded ?

1. IfT is true, then at least one of P and R
must be false.

2. IfQis true, then P is true.

Select the correct answer using the code given
below :

(a) 1only

(b) 2only

(c) Both1land2
(d) Neither 1 nor 2

A cuboid of dimensions 7 em x 5 em x 3 cm is
painted red, green and blue colour on each
pair of opposite faces of dimdi 1510ns
7 ecm x 5 cm, 5cmx3cm.7cmx\§&1
respectively. Then the\cubmd is eut and
separated ®into annug cubes Qach of side
@ngth;__, 1 cm '\\'t’hmhJ of the following
st.atem,cnts ta.r’are correct ?

1 There are exactly 15 small cubes with no
paint on any face.

There are exactly 6 small cubes with
exactly two faces, one painted with blue
and the other with green.

2.

Select the correct answer using the code given
below :

(a) 1only

(b) Z2only

(¢) Bothland?2

(d) Neither 1 nor 2

The letters of the word

“INCOMPREHENSIBILITIES” are arranged
alphabetically in reverse order. How many

positions of the letter/letters will remain
unchanged ?

(a) None
(b) One
(c) Two
(d) Three
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
T.B.C. : XDTG-S-DNK Test Booklet Series

TEST BOOKLET

GENERAL STUDIES
PAPER - II

Time Allowed : Two Hours Maximum Marks : 200

INSTRUCTIONS

1.  IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will renl:les the Answer
Sheet liable for rejection. A

3.  You have to enter your Roll Number on the \ \ |\
Test Booklet in the Box provided alongside. o q

5 AN\ \_©

DO NOT write anything else on the Test Booklet.

.8 v
4.  This Test Booklet contains 80 items (questions). Each item ig\\print}?{d I}otl'I in Hindi and English.
Each item comprises four responses (answers). You \Q;isli ﬁg_lgt‘:t the response which you want to mark
on the Answer Sheet. In case you feel thatQ\th'ére i

ere is more than one correct response, mark the
response which you consider the be§t. In qp’iﬁigasg," choose ONLY ONE response for each item.

5.  You have to mark all your resﬁonsé‘é‘ ON .Y on the separate Answer Sheet provided. See directions
in the Answer Sheet. A 4

6. Allitems caq}‘ggqu\ali'ﬁg"ﬁs\.\\ \y
7.  Before you proceed tomark in the Answer Sheet the response to various items in the Test Booklet,

you have, to fill in somé"particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

84( Aftér youhave completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

9.  Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN ALL THE
QUESTIONS.

(i) There are four alternatives for the answer to every question. For each question for which a

wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of

the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
T q : 37 H o) TR ¥6 T & AW 9% W o ¢ |
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